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Sectlon A

Answer at least ten questzons. o
- Each question carries 3 marks. =
" All questions can be attended.
' Querall Cetlmg 30.. '

. What are Quantitative Teehnlques ?

When two or more varlables are said to be correlated ?
Whlch are the dlfferent Degrees of correlatlon ? ]

What are regressmn lines ? - -

What are regression co-efficients ?
& . . a

Ly

Which are the components.of a time series ?

- Write a note on the method of Semi averages.

‘What are Index Numbers ? .

What are the ad'vantage and dis_advanfages of Laspeyres’ Price Index ? |
Which are the Methods of Describing a Set, ? |

What are Mutually exclusive events ?

What are Disjoint Sets ?

What are the limitations. of Classical Approach (Priori Probability).

What are the conditions for using Bieomial distfihution ?

Distinguish between Discrete Probability Distribution and Continuous Probability Distributions.

(10 % 8 = 30 marks)
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‘Section B | |

- Answer at least five questions. .
Each question carrtes 6 marks. -
- All questions can be attended.
Overall Cezlmg 30.

How Quantltatwe Techmques can be classdied '?

: How correlatlon can be clasmﬁed ?

The line of regression of marks in statlstlcs (X) on marks in accountancy (Y) for a class of 50
students is 3Y ~ 5X + 180.= 0. Average mark in accountancy is 44 and variance of marks

in statistics is 16, of variance of marks in accoontancy. Find ;-

' (i) Average marks in Statistics,

C ) Co—efﬁcient of correlatioa between X and Y.

The wages of certain factory workers are gwen as below Usmg 3 yearly moving average 1ncl1cate c

the trend in wages :

erar | 2004 2005 - 2006 2007 _-2008_ 2009 2010 2011 2012 |
Wages | o 1200 1500 .140_0 1750 18_60 1700 16b0 1506 175.0
What are the problems invoived in construction of index numbers ? |

Rewrite the following examples using set notation : (1) First ten even natural numbers ; (i) Set of
days of a week ; (iii) Set of months in a year which have 30 days (iv) The numbers 3, 6, 9, 12,

15.; and (v) The letters m,a Lh,e,m,a,ti,c,s.

The average percentage of faliure In a certain examination is 40, What is the probablhty that out

of a group of 6 candldates, at least 4 passed in the examination ?

An aptitude test was conducted for seIectmg ofﬁcers in 4 bank from 1000 students, The aver age

score is 42 and the Standard Deviation is 24. Asgume normal distribution for scores and find ;
{a) The number of candldates whose score exceed 58,

(b) The number of candidates whose score lie between 30 and 66.

(5 x 6 = 30 marks)
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Section C

- Answer any two questwns _ :
- Each questwn carrtes 10 marks

Fforﬁ the _dat_‘; givén belows calculate -the_ rank correlgtion betﬁeen X Aand Y :

X | .73 . 8}5.9.__ | 9'7._ 69 59 | 7'_9:' 68 57

" Yoo o135 137 156 112 107 136 - 123 108

Fita stralght hne trend to the followmg data by Least Square Method and estimate the sale for the
_year2012 R | ' | B
 Year o - 2005 - 2006 2()‘0# 2008 2009 2010

Sale (m '000s) 7‘_ N 0 80 ‘-'96"' N 100 95 114
-Explam dlﬁ'erent deﬁmtmns of Probab1hty | |
Fit a normal dlStI‘lbutIOIl of the follo_wmg data :

‘Marks - { ' 10-20 20-30 30-40 40-50 50-60 60-70 7080
» No.ofstudents ~:° ~ 4 22 48 66 40 18 4

(2 x 10 = 20 marks)




